








1. Start the tour from an arbitrary node
2. Add a node nearest to to form a partial circuit

3. Find a node not in the partial circuit for which the
distance to any of the nodes in the subtour is shortest,

4. Find an edge of the partial circuit to insert k, such

that is minimial and insert .

1. Begin with the Convex Hull subtour
2. Add a node nearest to to form a partial circuit

3. Find a node not in the partial circuit for which the
distance to any of the nodes in the subtour is shortest,

4. Find an edge of the partial circuit to insert , such that

is minimal and insert ( is the increment in the subtour
length).










